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1. What is equity in teaching-learning 
process ? 

 (A) To treat every student equally. 
 (B) To provide them support as per their 

individual need. 
 (C) To provide them equal opportunity 

to grow. 
 (D) To behave with the students equally 

without any discrimination of caste, 
gender etc.  

 -       ? 
 (A)         
 (B)      

     
 (C)         
 (D) ,        

      
2. The primary task of a teacher is 
 (A) To stimulate, motivate and guide 

students’ learning. 
 (B) To teach good habits in students. 
 (C) To teach the prescribed syllabus and 

textbook units. 
 (D) To satisfy the expectations of the 

principal, parents and society. 
       
 (A)     ,   

   
 (B)       
 (C)     

    
 (D) , -    

     (A) 
 

3. What is the level of the following questions ? 
 like – ‘Prepare a diagram on ......’, 

‘Explain the components / parts of ........’, 
‘Conclude the characteristics of .......’ 

 (A) Understanding level 
 (B) Analysis level 
 (C) Creativity level 
 (D) Application level 
       ? 
  - ‘........     ’, 

‘.........  /   ’, 
‘.......     ’ 

 (A)    
 (B)   
 (C)    
 (D)     

 
 
4. _______ was the educationist who gifted 

Kindergarten Education System to the 
world. 

 (A) Gijubhai (B) Dewey 
 (C) Herbert (D) Froebel 
 _______      

       
 (A)  (B)  
 (C)  (D)  
5. MOOCs must contain the four quadrants 

as per SWAYAM guidelines.  
 Which of the following is correct list and 

sequence of these quadrants ? 
 (A) e-tutorial (video), e-text (reading 

material), self-assessment tests, 
online discussion forum 

 (B) e-text (reading material), e-tutorial 
(video), online discussion forum, 
self-assessment tests  

 (C) e-text (reading material), e-tutorial 
(video), e-tutorial (audio), self-
assessment tests  

 (D) e-tutorial (video), e-text (reading 
material), online discussion forum, 
external assessment and certification 

 SWAYAM  -   
MOOC       
         
    ? 

 (A) - (), - ( 
), - ,  
  () 

 (B) - ( ), - 
(),    (), 
-  

 (C) - ( ), - 
(), - (), -
  

 (D) - (), - ( 
),    (), 
    

6. ______ Plagiarism is allowed by UGC 
according to the latest rules and 
regulations by UGC. 

        
 _______   
()    

 (A) 05 % (B) 10% 
 (C) 15% (D) 20% 

Part-I / -I  
Compulsory /  



 

 3 14 (Library Science) 

7. Which of the following is not the 
example of qualitative research ? 

 (A) Ethnography (B) Survey 
 (C) Case Study (D) Focus Group 
         

   ? 
 (A) - (B)  
 (C)    (D)   
 

8. Which of the following inferential 
statistics data analysis technique will 
you use for the data that is less than 15 
and selected using Convenient Sampling 
Technique ? 

 (A) A Variance Test 
 (B) A Parametric Test 
 (C) A Non-Parametric Test 
 (D) None of these 
      

    15       
        
     ? 

 (A)    
 (B)    
 (C)    
 (D)      
 

9. Which of the following is NOT a useful 
software to analyse the data obtained 
through research ? 

 (A) Microsoft Excel (B) SPSS 
 (C) SSPS (D) PYTHON 
        

         
    ? 

 (A)   (B)  
 (C)  (D)  
 

10. Which of the following types does NOT 
belong to “Types of Interviews” in 
research ? 

 (A) Structured Interview 
 (B) Unstructured Interview 
 (C) Personal Interview 
 (D) Impersonal Interview 
         

“  ”     ? 
 (A)   
 (B)   
 (C)   
 (D)    

Read the following passage and answer the 
Questions given below : (Q. 11-15) 
 The scientific and critical mind of India 
must be reawakened from its slumber. The 
ancient culture based on the vision of the Vedic 
and Upanishadic seers did not minimise the 
importance of our earthly life. In fact, opulence, 
inner and outer, was the driving force of this 
culture. But for about a Millennium and a half 
now our culture has let go of this fine balance and 
got trapped into the ascetic denial of our terrestrial 
life. With this began the decline of the great 
Indian civilization. The present education system 
aims at making the child an information-
recording machine and a robot for making 
money. Mathematics, computers and machines 
are everywhere in these days because they are the 
gateways to lucrative jobs and subjects which do 
not enjoy this repetition - history, geography, 
languages like mother tongue and Sanskrit - are 
out. The second grave defect of our education 
system is that it is gravely denationalising. No 
German education would be regarded complete 
without a good acquaintance with Goethe, but 
Indian education has no such concern about the 
sources of our culture. It is ironical that Indian 
education is uncritically trying to emulate the 
West just when the West itself is going through a 
crisis of faith with regard to its institutions of 
education and culture. It is desperately wondering 
what has gone wrong as it faces mounting 
problems of drug addiction, teenage pregnancy 
among high school students, an existing 
hopelessness among people of all ages as well as 
a social organisation that sets a premium on greed 
rather than on compassion and love. 
         
   : (. 11-15) 
        
           
         
         : 
,   ,        
          
           
            
           
       -  
     ,      
           
          - 
, ,      -  
             
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           
         ,  
           
            
         
  ,         
              
             
   ,        
,      -   
          
            
     
11. The author of this paragraph wants to 

________ Indian culture. 
 (A) revive (B) criticize   
 (C) praise  (D) None of these 
       / 

________     
 (A)  (B)  
 (C)  (D)     
     (A) 
12. The word ‘opulence’ in this paragraph 

means ______. 
 (A) peace (B) wealth 
 (C) values (D) None of these 
    ‘’      
 (A)  (B)  
 (C)  (D)     
      
13. Which of the following is NOT an issue 

faced by the western society as per the 
above text ? 

 (A) Pre-marital sex among adolescents   
 (B) Various addictions 
 (C) Depression 
 (D) Lack of faith in God 
         

       
    ? 

 (A)        
 (B)   
 (C)  
 (D)      
 

14. “No German education would be 
regarded complete without a good 
acquaintance with Goethe.” What do you 
understand by this line of the text ? 

 (A) The author praises German 
education system. 

 (B) The author likes the German artist 
Goethe. 

 (C) The author emphasises teaching of 
arts and culture in education. 

 (D) None of these 
 “         

      ”    
      ? 

 (A)          
 (B)          
 (C)        

      
 (D)      
 

15. According to the author, our education 
system is denationalising because 

 (A) It does not teach about the great 
seers and sages of India. 

 (B) It does not teach about the great 
artists of India. 

 (C) It does not teach about the ancient 
language and literature of India. 

 (D) All of these 
   ,    

     
 (A)          

     
 (B)          

   
 (C)         

      
 (D)    
 

16. A conference or a meeting or even a 
mela or procession is a ‘communication 
event’, newspapers, radio, cinema and 
television are ‘communication media’, 
phones, computers, satellites and the 
internet are ‘communication _______’. 

 (A) spaces (B) media 
 (C) technologies (D) process 
           

    ‘ ’ , -
, ,    ‘ 
’ , , ,    
‘ _______’   

 (A)  (B)  
 (C)  (D)  
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17. The Interpretation process in 
Communication takes place in ______. 

 (A) sender (B) message 
 (C) receiver (D) channel 
     (  ) 

________     
 (A)  (sender) 
 (B)  (message) 
 (C)  (receiver) 
 (D)  (channel)  
 

18. What is of greater concern is the effect 
of ‘_________’ which could result from 
repeated exposure to scenes of violence 
in programmes, news and cartoons. 

 (A) Stereotypes 
 (B) Generalisation 
 (C) Desensitization 
 (D) None of these 
      ,  ‘_____’  

 ,  ,     
    -   
     

 (A)  (B)  
 (C)  (D)     
      
19. Environmental Stress, Competing 

Stimulus, Subjective Stress are examples of 
 (A) Noise 
 (B) Physical barrier 
 (C) Frame of reference 
 (D) Emotional barrier 
  ,  ,  

    ? 
 (A)  (B)   
 (C)   (D)   
      
20. Gestures, Grunts and Grimaces are 

examples of  
 (A) Evolution 
 (B) Non-Verbal Communication 
 (C) Noise 
 (D) Verbal communication 
 ,        ? 
 (A)  (B) -  
 (C)  (D)   
 

21. Find the missing number in the given 
series following the same pattern : 

          
     : 

 18, 24, 84, 294, 798, (?)  
 (A) 1682  (B) 1788  (C) 1867  (D) 1932  
      

22. Shyam bought an old Honda Bike and 
spent ` 1,500 on its repairs. Then Shyam 
sold it to Rohan at a profit of 20%. 
Rohan sold it to Rudra at a loss of 10%. 
Rudra finally sold it for ` 12,100 at a 
profit of 10%. How much did Shyam 
pay (in `) for the old Honda Bike ? 

          
  ` 1,500        
  20%         
   10%         
  ` 12,100  10%    
         
 (` )   ? 

 (A) ` 8,600 (B) ` 8,685 
 (C) ` 10,800 (D) ` 10,185 
 

23. There are three athletes P, Q and R at the 
same point. P starts running from a point at 
a speed of 40 m/min. After 5 minutes, Q 
starts running after P with a speed of 50 
m/min. Simultaneously, R also starts 
running after P at 60 m/min. What distance 
has R covered (in m) when he catches P ? 

   P, Q  R       P 
   40 /     
    5  , Q, P        
50 /         
 , R  P   60 /  
       P    R 
   ( )    ? 

 (A) 700/3 (B) 1000/3 
 (C) 600 (D) 1300/3  
 

24. In an election between two candidates, 
the winner got 82% of total vote cast and 
won the election by a majority of 3840 
votes. What is the total number of votes 
cast if no vote is declared invalid ? 

       ,   
     82%    
 3840         
         
         ? 

 (A) 11000 (B) 4000 
 (C) 9000 (D) 6000 
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25. Read the following information carefully 
to answer the question given below : 

 (i) X * Y means Y is mother of X. 
 (ii) X + Y means X is brother of Y. 
 (iii) X – Y means X is sister of Y. 
 (iv) X / Y means Y is father of X. 
 Which of the following definitely means 

that ‘P is grandson of Q’ ? 
          

     : 
 (i) X * Y    Y, X     
 (ii) X + Y    X, Y     
 (iii) X – Y    X, Y     
 (iv) X / Y    Y, X     
          

 ‘P, Q   ’ ? 
 (A) P * H / Q  
 (B) A – P * H / Q 
 (C) A * P * H / Q  
 (D) None of these/    
 

26. Consider the following argument : 
 Major Premise : No squares are rectangles. 
 Minor Premise : All rectangles are circles. 
 Conclusion : Some circles are not squares. 
 What is the Mood of the above proposition ? 
      : 
  - :       

  
  - :      
  :       
       ? 
 (A) E A O (B) A E O  
 (C) A I E (D) E A I 
 

27. Choose the analogy that best matches the 
example provided. 

 SOOT : GRIMY 
 (A) RAIN : SODDEN 
 (B) PALL : GAUDY  
 (C) FROST : TRANSPARENT 
 (D) DUST : RADIANT 
          

      
  :  
 (A)  : - (B)  :  
 (C) :  (D) :  

28. In following question statements are given 
and these statements are followed by 
conclusions. You have to take the given 
statements to be true even if they seem to 
be at variance from commonly known 
facts. Read the conclusions and then decide 
which of the given conclusions logically 
follows from the given statements, 
disregarding commonly known facts. 

 Statements : Some questions are 
answers. Some answers are writers. 
All the writers are poets. 

 Conclusions :  
 I. Some writers are answers. 
 II. Some poets are questions. 
 III. All the questions are poets. 
 IV. Some poets are answers. 
 (A) Only I and II follows. 
 (B) Only I and IV follows. 
 (C) Only III and IV follows. 
 (D) Only II and III follows.  
          

          
          
           
          
       ,  
          

  :           
     

  : 
 I.      
 II.      
 III.      
 IV.      
 (A)  I  II     
 (B)  I  IV     
 (C)  III  IV     
 (D)  II  III     
29. ‘Whoever thrusts a knife into another 

person should be arrested. Surgeons thrust 
a knife into another person when operating. 
Therefore, surgeons should be arrested.’ 

 Which fallacy is committed in the given 
argument ? 

 (A) Fallacy of accident 
 (B) Hasty generalization 
 (C) Appeal to unqualified authority 
 (D) Red Herring 
 ‘        

        
       ,  
     ’ 

         ? 
 (A)    
 (B)   
 (C)     
 (D)     
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30. Which of the following statements are true 
with reference to Vyapti (concomitance) 
according to the Nyaya system ? 

 (a) It expresses the relation between 
two individual objects only. 

 (b) It expresses the relation between the 
classes of individuals. 

 (c) It can be said to exist between two things 
if they are related as cause and effect. 

 (d) It can be said to exist between two things 
if they are related as species and genus. 

 Choose the correct answer from the 
options given below : 

 (A) (a), (c) and (d) only  
 (B) (c) and (d) only 
 (C) (b), (c) and (d) only 
 (D) (b) and (c) only 
      ()  

          ? 
 (a)         

   
 (b)            
 (c)           

           
 (d)          

         
    

            : 
 (A)  (a), (c)  (d) (B)  (c)  (d)  
 (C)  (b), (c)  (d) (D)  (b)  (c) 
      
Q. No. 31 to 35 : The table given below provides 
data about investment done by different persons. 
Read the table carefully and answer the questions.  
(Note : Calculate simple interest unless specified 
and all questions are independent of others). 
. 31  35 :        
             
          
( :           
       ) 

Person 
 

Rate of 
interest 
  

Time 
(Years) 

 
() 

Principal 
  

(`) 

Amount 
                  
(`) 

Amar /  3%  1,800  
Brijesh /  3%  3,000  
Chirag /   4  2,900 
Divya /   2 4,500  
Ekta /  4%  2,000  
Fenil /   2 6,000  

31. If the interest rate received by Amar and 
Chirag is in the ratio 2 : 3, then find in 
approximately how many years the 
money invested by Chirag will be 
doubled with same rate of interest. 

         2 : 3 
   ,       
         
   ? 

 (A) 33.5  (B) 20  (C) 22.22  (D) 29.40  
32. If the difference between the interest 

received by Ekta and Brijesh is ` 420 and 
Ekta invested her money for double the time 
period for which Brijesh invested his money, 
then find the amount received by Ekta. 

           
 ` 420         
          
 ,         

 (A) ` 2,298 (B) ` 2,785 
 (C) ` 3,050 (D) ` 2,960  
33. If the amount received by Chirag is 

twice the money invested by him, then 
find the amount he will receive after 2 
years if he invests same amount of 
money in compound interest for 2 years 
compounded half yearly. 

          
    ,     2  
         
  2      
       

 (A) ` 2,233.56 (B) ` 2,549.45 
 (C) ` 2,322.62 (D) ` 2,122.46  
34. If the interest received by Fenil is 20% of 

the sum invested by him, then find how 
much more money as interest he would 
have earned if he had invested the money 
in compound interest for the same years. 

          
   20% ,      
         
         

 (A) ` 80  (B) ` 60  (C) ` 65  (D) ` 75  
35. If the interest received by Fenil is ` 240 

more than interest received by Divya and the 
rate of interest received by Fenil is 2% more 
than the rate of interest received by Amar, 
then find the interest calculated by Divya. 

           
` 240         
        2%  , 
          

 (A) 1%    (B) 2%    (C) 3%    (D) 4%  
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36. Which one of the following statement(s) 
is/are true about QR code ? 

 I. It stands for Quick Read. 
 II. It is a two-dimensional bar code. 
 III. It cannot be used for cryptocurrency 

wallet addresses. 
 (A) Both I and II (B) Both II and III 
 (C) Only II (D) Only III 
     /  QR   

   / ? 
 I.     (Quick Read)   
 II.   -     
 III.       

       
 (A) I  II  (B) II  III  
 (C)  II (D)  III 
 

37. Which video compression standard is 
commonly used in video conferencing ? 

        
       ? 

 (A) H.264 (B) MPEG-2 
 (C) MPEG-4 (D) VP9  
 

38. _____ is a digital initiative of government 
of India in higher education that aims to 
promote hands-on learning of Robotics 
and embedded systems in colleges. 

 (A) E-Yantra  (B) Virtual Labs 
 (C) E-PG Pathshala (D) E-Shodh 
 _____         

        
          

 (A) - (B)   
 (C) -  (D) - 
 

39. What is the National Institutional 
Ranking Framework (NIRF) ? 

 (A) A government body responsible for 
accreditation of higher education 
institutions. 

 (B) A methodology for ranking higher 
education institutions in India. 

 (C) A platform/framework where 
students give feedback about 
colleges and universities. 

 (D) All of these 
   ()   

(NIRF)   ? 
 (A)        

     
 (B)         

    
 (C)  /     

        
 (D)     

40. What does it require to set-up an Intranet 
for an organization ? 

 (A) Computing devices 
 (B) Communication links and 

Interconnecting devices 
 (C) Protocols for enabling 

communication among devices 
 (D) All of these 
         

    ? 
 (A)   
 (B)      
 (C)         

  
 (D)     
41. Under which protocol the Clean Development 

Mechanism (CDM) is implemented ? 
 (A) Kyoto protocol 
 (B) Montero protocol 
 (C) Paris agreement 
 (D) Cartagena protocol 
        

()     ? 
 (A)   (B)   
 (C)   (D)    
42. Certified emission reduction credit represents  
 (A) Reduction in one metric tonne of sulphur 

dioxide emitted to the atmosphere. 
 (B) Reduction in one metric tonne of 

nitrogen oxide emitted to the 
atmosphere. 

 (C) Reduction in one metric tonne of carbon 
dioxide emitted to the atmosphere. 

 (D) None of these 
     (certified 

emission reduction credit)   
 (A)      

       
 (B)      

       
 (C)      

       
 (D)       
43. Arrange the crops in an ascending order 

for their water footprint. 
 (A) Wheat < Rice < Coffee 
 (B) Rice < Wheat < Coffee 
 (C) Coffee < Rice < Wheat 
 (D) Rice < Coffee < Wheat 
      (water 

footprint)         
 (A)  <  <  
 (B)  <  <  
 (C)  <  <  
 (D)  <  <   
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44. How many kilograms of CO2 is 
equivalent to 1 kg of CH4 in terms of 
global warming potential ? 

         
CO2, 1  CH4    ? 

 (A) 10 
 (B) 25 
 (C) 50  
 (D) None of these/    
45. The United Nations Conference on 

Environment and Development 
(UNCED), also known as the ‘Earth 
Summit’, brought together 
representatives from ________ countries 
to discuss about the impact of human 
________ activities on the environment. 

 (A) 179, socio-economic 
 (B) 177, socio-demographic 
 (C) 175, socio-cultural 
 (D) 173, bio conservation 
        

(),  ‘  ’  
     , ________   
     ________ 
         
      

 (A) 179, - 
 (B) 177, - 
 (C) 175, - 
 (D) 173,      
46. In most of the States of India, the Vice- 

Chancellor of a State Government 
University is appointed by _______. 

 (A) Chief Minister of the State 
 (B) Home Minister of the State 
 (C) Hon. Governor of the State 
 (D) Education Minister of the State 
         

     ________ 
     

 (A)    
 (B)     
 (C)     
 (D)       
47. Which is/are the online learning 

platform(s) in India ? 
 I. DIKSHA  II. SWAYAM 
 III. PARAKH IV. SWAYAMPRABHA 
 (A) Only I, II (B) Only I, II, III 
 (C) Only II (D) Only I, II, IV 
       / / ? 
 I.  II.  
 III.  IV.  
 (A)  I, II  (B)  I, II, III 
 (C)  II (D)  I, II, IV  

48. Which of the following institutions/ 
organisations play important role in 
designing the curriculum for all the 
levels of school education and higher 
education in all the disciplines of 
knowledge ? 

 I. NCERT II. NCTE 
 III. UGC IV. AICTE 
 (A) Only I, II (B) Only I, II, III 
 (C) I, II, III, IV (D) Only I, II, IV 
          

         
      / 
    ? 

 I.  II.  
 III.  IV.  
 (A)  I, II (B)  I, II, III 
 (C) I, II, III, IV (D)  I, II, IV  
 

49. Which of the following ancient Indian 
University was situated in Pakistan of 
present time ? 

 (A) Nalanda (B) Taxila 
 (C) Vallabhi (D) Vikramshila 
        

      
  ? 

 (A)  (B)  
 (C)  (D)   
 

50. NEP 2020 has emphasized on  
 I. starting all the engineering and medical 

courses in the vernacular languages. 
 II. reviving ancient knowledge systems. 
 III. converting all the colleges into 

multi-disciplinary universities. 
 IV. designing a new curriculum for Early 

Childhood Care and Education. 
 (A) I, II, III, IV (B) Only I, II, III 
 (C) Only I, III (D) Only II, III, IV 
  2020       ? 
 I.       

      
 II.        
 III.    - 

     
 IV.      

        
 (A) I, II, III, IV (B)  I, II, III 
 (C)  I, III (D)  II, III, IV   
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51. What are the objectives of intellectual 
property rights ? 

 1. It helps in protecting the ownership 
and originality of the individuals’ 
creations. 

 2. It provides recognition to the 
concerned person or authority.  

 3. Rights are extended to the inventor 
for an indefinite period. 

 4. It allows owners of intellectual 
property to have financial benefits 
from the property they have created.  

        ? 
 1.        

         
 2.       

     
 3.       

     
 4.        

        
      

 (A) 1, 3, 4 
 (B) 2, 3, 4 
 (C) 1, 2, 4 
 (D) All of the above/   

 

52. What protects the intellectual property 
created by artists ? 

 (A) Copyright 
 (B) Trademark 
 (C) Registered Designs 
 (D) Patents 
         

   ? 
 (A)  (B)  
 (C)   (D)   
 

53. In which year “Patent Act” was enacted 
to amend and consolidate the law 
relating to patents in the country ? 

          
    “ ”  
    ? 

 (A) 1971 (B) 1970 
 (C) 1973 (D) 1972  

 
54. Who stated this fundamental equation of 

information science K(S) + ∆1 = K(S + ∆S) ?  
 (A) Belkin (B) Brookes 
 (C) Bell (D) Machlup 
       K(S) + 

∆1 = K(S + ∆S)     ? 
 (A)  (B)  
 (C)  (D)   

 

55. Who has propounded “5W” model of 
communication, which focuses on “Who 
(says) What (to) Whom (in) Which 
Channel (with) What Effect” ? 

 (A) Shannon and Weaver  
 (B) Harold Lasswell 
 (C) George Gerbner  
 (D) The Schramm  
    “5W”    

 ,  “ ( )  () 
 ()   ( )  ” 
   ? 

 (A)    (B)   
 (C)   (D)    
 

56. On what date Right to Information Act, 
2005 came into force ? 

  (A) 13 January, 2005 
 (B) 13 November, 2005 
 (C) 13 October, 2005 
 (D) 15 August, 2005 
    , 2005  

     ? 
 (A) 13 , 2005 
 (B) 13 , 2005 
 (C) 13 , 2005 
 (D) 15 , 2005    
 

57. The Patent Information System (PIS) of 
Ministry of Commerce and Industry, 
India was set up in 1980 at :  

 (A) New Delhi  (B) Pune  
 (C) Nagpur  (D) Chennai 
        

 () 1980 ,   
_______       

 (A)   (B)  
 (C)  (D)   

Part-II / -II 
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58. Match the following : 
List I List II 

a.  National 
Knowledge 
Commission 

i. Prof. 
Chattopadhyay 

b. Berne 
Convention 

ii. Sam Pitroda 

c. Communication 
Model 

iii. Copyright 

d. National Policy 
on Lib. & Inf. Sc. 

iv. Shannon and 
Weaver 

     : 
 I  II 

a.     i.  
 

b.   ii.   
c.   iii.  
d.   

   
  

iv.    

 (A) a-ii b-iii c-iv d-i 
 (B) a-ii b-iii c-i d-iv 
 (C) a-ii b-iv c-iii d-i 
 (D) a-ii b-i c-iv d-iii  

 

59. According to S.R. Ranganathan the steps 
in classifying document include the 
following analysis of the title. Arrange 
the steps in the sequential order :  

 (a)  Kernal Title  
 (b)  Analysed Title  
 (c)  Expressive Title  
 (d)  Transformed Title 
 (A) (b), (a), (d) and (c) 
 (B) (c), (b), (d) and (a) 
 (C) (c), (a), (b) and (d) 
 (D)  (c), (b), (a) and (d) 
 ..   ,   

        
         
  : 

 (a)   (b)   
 (c)   (d)   
 (A) (b), (a), (d)  (c) 
 (B) (c), (b), (d)  (a) 
 (C) (c), (a), (b)  (d) 
 (D) (c), (b), (a)  (d)   

60. There is no provision for Library Cess in 
the Public Libraries Act of ______. 

 (A) West Bengal and Tamil Nadu 
 (B) Maharashtra and West Bengal 
 (C) Andhra Pradesh and Maharashtra 
 (D) Tamil Nadu and Andhra Pradesh 
 _________    

       
   

 (A)     
 (B)     
 (C)     
 (D)      

 

61. Match the following :  
List I 

(Library 
Professional 
Associations) 

List II 
(Year of 

Establishment) 

a.  ALA i. 1877/2002 
b. CILIP ii. 1876 
c. SLA iii. 1927 
d. IFLA iv. 1909 

     : 
 I 

( 
 ) 

 II 
( ) 

 
a.  ALA i. 1877/2002 
b. CILIP ii. 1876 
c. SLA iii. 1927 
d. IFLA iv. 1909 

 (A) a-i b-ii c-iii d-iv 
 (B) a-ii b-i c-iv d-iii 
 (C) a-iv b-iii c-ii d-i 
 (D) a-iii b-ii c-iv d-i  

 

62. ‘Indian Library Review’ is a blog of 
 (A) Delhi Public Library 
 (B) RRRLF 
 (C) Indian Library Association (ILA) 
 (D) National Library of India, Kolkata 
 ‘  ’    ? 
 (A)    
 (B)  (RRRLF) 
 (C)    (ILA) 
 (D)    ,   
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63. __________ was formed by the merger 
of Library Association, UK (LA, UK) 
and the Institute of Information 
Scientists (IIS). 

 __________    , 
 (LA, UK)      
(IIS)       

 (A) LAUKS (B) LAIS 
 (C) CILIP (D) LAGBIIS  
 

64. Which of the organizations from the 
following are associated with the 
concept of ‘1000 crore plan to link 9000 
libraries in India’ ?  

 (i) National Library of India 
 (ii) National Mission on Libraries 
 (iii) INFLIBNET 
 (iv) RRRLF 
 (A) (ii) and (iii) are correct. 
 (B) (iii) and (iv) are correct.  
 (C) (i) and (iv) are correct. 
 (D) (ii) and (iv) are correct. 
       ‘  9000 

     1000  
’      ? 

 (i)     (National 
Library of India) 

 (ii)     (National 
Mission on Libraries) 

 (iii) INFLIBNET 
 (iv) RRRLF 
 (A) (ii)  (iii)    
 (B) (iii)  (iv)    
 (C) (i)  (iv)    
 (D) (ii)  (iv)      

 

65. Library Ethics is a combination of what ? 
 (i) Responsibility (ii) Accountability 
 (iii) Commitment (iv) Optimisation 
 (A) (i), (ii) and (iii) are correct. 
 (B) (ii), (iii) and (iv) are correct. 
 (C) (i), (iii) and (iv) are correct. 
 (D) (i), (ii) and (iv) are correct. 
      ? 
 (i)  (ii)   
 (iii)  (iv)  
 (A) (i), (ii)  (iii)    
 (B) (ii), (iii)  (iv)    
 (C) (i), (iii)  (iv)    
 (D) (i), (ii)  (iv)     

66. Match the following : 
List I List II 

a.  Connemara Public 
Library 

i. Patna 

b. Khuda Baksha 
Oriental Public 
Library 

ii. Kolkata 

c. Asiatic Society 
Library 

iii. Chennai 

d. National Library of 
India 

iv. Mumbai 

    : 
 I  II 

a.     i.  
b.    

  
ii.  

c.   
 

iii.  

d.    
 

iv.  

 (A) a-iv b-ii c-i d-iii 
 (B) a-iv b-i c-ii d-iii 
 (C) a-iii b-ii c-i d-iv 
 (D) a-iii b-i c-iv d-ii  

 

67. When was the Calcutta Public Library 
opened for public ? 

 (A) 21st March, 1834 
 (B) 21st March, 1835 
 (C) 21st March, 1836 
 (D) 21st March, 1837 
         

   ? 
 (A) 21 , 1834 (B) 21 , 1835 
 (C) 21 , 1836 (D) 21 , 1837  

 

68. The American Library Association 
adopted a professional ethical code in 
the year –  

         
     ? 

 (A) 1929 (B) 1958 
 (C) 1948 (D) 1939  
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69. Who contributed about the systematic 
use of the user’s education ?  

 (A) S. S. Green (B) Dewey 
 (C) P. B. Knapp (D) E. J. Coates 
        

   ? 
 (A) ..  (B)  
 (C) ..  (D) ..   
 

70. Which of the following are not the 
secondary sources ? 

 (A) Survey Publications 
 (B) Biographies  
 (C) Reviews of law and legislation 
 (D) Encyclopedias 
          ? 
 (A)   
 (B)  
 (C)      
 (D)     
 

71. Match the following : 
List I List II 

a.  PubMed i. Multidisciplinary 
b. Web of 

Science 
ii. Medicine, 

Biological Sciences 
c. ERIC iii. Engineering 
d. IEEE 

Xplore 
iv. Education Science 

     : 
 I  II 

a.   i. - 
b.    ii. ,   
c.  iii.  
d. (IEEE) 

 
iv.   

 (A) a-ii b-i c-iii d-iv 
 (B) a-ii b-iii c-iv d-i 
 (C)  a-i b-iv c-ii d-iii 
 (D) a-ii b-i c-iv d-iii  
 

72. Which of the following is not in the group ? 
 (A) Patents 
 (B) Standards  
 (C) Indexes to Individual Periodicals 
 (D) Intellectual Property 
         ? 
 (A)  
 (B)  
 (C)      

 
 (D)      

73. The term Lexicography is associated 
with which of the following ? 

 (A) Publication of dictionaries 
 (B) Printing of dictionaries 
 (C) Compilation of dictionaries 
 (D) Selling of dictionaries 
  (Lexicography)  

      ? 
 (A)    
 (B)    
 (C)    
 (D)      

 

74. Match the following : 
List I List II 

a.  Books in Print i. Bibliography of 
periodicals 

b. Ulrich 
International 
Periodical 
Directory 

ii. Trade 
Bibliography 

c. World of 
Learning 

iii. Biographical 
source 

d. Who’s Who in 
India 

iv. Directory of 
Institutions 

     : 
 I  II 

a.     i.    
 
(  
) 

b.  
 
 
  

ii.   ( 
) 

c.   
 

iii.   
( 
) 

d.    
 

iv.    
(  
) 

 (A) a-ii b-i c-iv d-iii 
 (B) a-ii b-i c-iii d-iv 
 (C) a-i b-iii c-iv d-ii 
 (D) a-iii b-iv c-i d-ii  
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75. Match the following : 
List I List II 

a.  Biological 
Abstract 

i. H. W. 
Willson 

b. Statement’s 
Yearbook 

ii. NISCAIR 

c. Indian Science 
Abstract 

iii. Clarivate 
Analytics 

d. Cumulative 
Book Index 

iv. U. N. 
Statistical 
Office 

     : 
 I  II 

a.   
  

i. . . 
  

b.   ii. NISCAIR 
c.   

 
iii.  

 
d.   

 
iv.   

 
 

 (A) a-ii b-iii c-iv d-i 
 (B) a-iii b-iv c-ii d-i 
 (C)  a-i b-iii c-iv d-ii 
 (D) a-ii b-iii c-i  d-iv  

 

76. The INSPEC database is created by 
________. 

 (A) ELSEVIER (B) BIOSIS 
 (C) IET, UK (D) IEEE, USA 
 INSPEC  _____      
 (A)  (B)  
 (C) ,  (D) ,   

 

77. EI COMPENDEX is an online database 
for ________ 

 (A) Globe studies 
 (B) Agriculture research 
 (C) Anthropology  
 (D) Engineering 
 EI COMPENDEX ________   

    
 (A)   (B)   
 (C)   (D)   

78. The Dictionary of Geographical terms is 
called _______. 

 (A) Gazetteers (B) Globe 
 (C) Glossary (D) None of these 
      _______  

   
 (A)  (B)  
 (C)  (D)      

 

79. Match the following : 
List I List II 

a.  Guiding users 
to the place of 
information 

i. Digest 

b. Guiding users 
in the use of 
information 

ii. User 
Orientation 

c. Alerting users 
with the latest 
arrivals 

iii. Referral 

d. Providing users 
with 
summarized 
information 

iv. Current 
Awareness 

       : 
 I  II 

a.      
  
   

i.  

b.     
  
   

ii.  
 
( 
) 

c.    
   
   

iii.  

d.   
   
  

iv.  
 
( 
) 

 (A) a-iii b-iv c-i d-ii 

 (B) a-iii b-ii c-iv d-i 

 (C)  a-ii b-iv c-iii d-i 

 (D) a-i b-ii c-iv d-iii  
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80. Match the following :  

List I List II 

a.  SENDOC i. Social Science 

b. INPADOC ii. Science 

c. NASSDOC iii. Patents 

d. INSDOC 

(NISCAIR) 

iv. Small Scale 

Industries 

     : 

 I  II 
a.  SENDOC i.   
b. INPADOC ii.  
c. NASSDOC iii.  
d. INSDOC 

(NISCAIR) 
iv.   

 (A) a-ii b-iii c-iv d-i 

 (B) a-i b-ii c-iv d-iii 

 (C)  a-iv b-iii c-i d-ii 

 (D) a-iv b-i c-iii d-ii  

 

81. Match the following :  

List I List II 

a.  Ohio i. INIS 

b. Delhi ii. AGRIS 

c. Vienna iii. OCLC 

d. Rome iv. NICNET 

     : 

 I  II 
a.   i. INIS 

b.  ii. AGRIS 

c.  iii. OCLC 

d.  iv. NICNET 

 (A) a-ii b-i c-iv d-iii 

 (B) a-iii b-iv c-ii d-i 

 (C)  a-ii b-iii c-i d-iv 

 (D) a-iii b-iv c-i d-ii  

82. DelCON and CeRA are – 

 (A) Library Management tool 

 (B) Library Consortium 

 (C) Library Genesis 

 (D) Library Administrator 

 DelCON  CeRA ______   
 (A)    
 (B)   
 (C)   
 (D)     

 

83. Match the following : 

List I List II 

a.  Vidyanidhi i. Institutional 
Repository 

b. TKDL ii. Electronic 
Theses & 
Dissertations 

c. DOAJ iii. Index of Digital 
Journals 

d. E-Prints @ 
IISc 

iv. Digital Archive 

     : 
 I  II 

a.   i.   
b.  ii.  

   
 

c.  iii.  
  
 

d. - @ 

 
iv.   

() 

 (A) a-ii b-iv c-iii d-i 

 (B) a-iv b-iii c-ii d-i 

 (C)  a-i b-iii c-iv d-ii 

 (D) a-iii b-ii c-i d-iv  
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84. Match the following :  
List I List II 

a.  NASSDOC i. Defense Science 
b. DEVSIS ii. Social Science 
c. INIS iii. Development 

Science 
d. DESIDOC iv. Nuclear Science 

     : 
 I  II 

a.  NASSDOC i.   
b. DEVSIS ii.   
c. INIS iii.   
d. DESIDOC iv.   

 (A) a-ii b-iii c-i d-iv 
 (B) a-ii b-iii c-iv d-i 
 (C)  a-ii b-i c-iv d-iii 
 (D) a-i b-ii c-iii d-iv  

 

85. Which of the following are ‘Special 
Auxiliary Subdivisions’ of UDC ? 

 (1)  Apostrophe  (2)  Colon  
 (3)  Point-naught  (4)  Sub-grouping 
 (A) (1) and (2) are correct. 
 (B) (2) and (4) are correct. 
 (C) (1) and (3) are correct. 
 (D) (3) and (4) are correct. 

      (UDC)  ‘ 
  ’  ? 

 (1)  
 (2)  
 (3) - 
 (4) - (-) 
 (A) (1)  (2)    
 (B) (2)  (4)    
 (C) (1)  (3)    
 (D) (3)  (4)      

86. In CC ‘1’ is used for Unity, God, World, 
First in evolution etc. as a – 

 (A) Schedule mnemonic 
 (B) Seminal mnemonic 
 (C) Syntactical mnemonic 
 (D)  Alphabetical mnemonic 
 CC  ‘1’   , , ,  

     ________   
     

 (A)    
 (B)    ( ) 
 (C)     ( 

) 
 (D)      
 

87. The number of successive characteristics 
forming the basis of its derivation from 
the Universe of Knowledge is known as : 

 (A) Order of a class 
 (B) Order of an array 
 (C) Open array 
 (D) Collateral array 
          

        
   : 

 (A)    (B)    
 (C)   (D)    
 

88. Match the following : 
List I List II 

a.  Loose 
Assemblage  

i. Organometallic 
Chemistry 

b. Agglomeration  ii. Physics for 
Engineers 

c. Fusion  iii. Indology 
d. Clustering  iv. Natural 

Sciences 
     : 

 I  II 
a.     i.   
b.   ii.    
c.   iii.  
d.   iv.   

 (A) a-ii b-iii c-iv d-i 
 (B) a-ii b-iv c-iii d-i 
 (C)  a-iv b-i c-ii d-iii 
 (D) a-ii b-iv c-i d-iii  
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89. Identify the correct sequence of entities 
in Group 1 of Functional Requirement of 
Bibliographic Records (FRBR) : 

 (A) Works, Items, Expression, 
Manifestation 

 (B) Works, Items, Manifestation, 
Expression 

 (C) Expression, Works, Items, 
Manifestation 

 (D) Works, Expression, Manifestation, 
Items 

   () (FRBR)  
    1    
    : 

 (A) , , ,  
 (B) , , ,  
 (C) , , ,  
 (D) , , ,   

 

90. Assertion (A) : An ISO 2709: 2008 
record structure and review format has 
‘Record Label’, ‘Directory’, ‘Data 
fields’ and ‘Record Separator’. 

 Reason (R) : ISO 2709 is a subset of 
MARC. 

 (A) Both (A) and (R) are true. 
 (B) (A) is false, but (R) is true. 
 (C) Both (A) and (R) are false. 
 (D) (A) is true, but (R) is false. 

  (A) :  (ISO) 2709: 

2008       
‘ ’, ‘’, ‘ ’  
‘ ’   

  (R) :  (ISO) 2709 MARC 
  (subset)   

 (A)  (A)  (R)    
 (B) (A)  ,  (R)    
 (C)  (A)  (R)    
 (D) (A)  ,  (R)     

91. Match the following : 
List I List II 

a.  Descriptive 
Metadata  

i. MOA2 

b. Structural 
Metadata 

ii. EAD 

c. Administrative 
Metadata 

iii. OWL + DC 

d. Semantic 
Metadata 

iv. MARC 

     : 
 I  II 

a.    i. MOA2 

b.  
 

ii. EAD 

c.   iii. OWL + DC 

d.  () 
 

iv. MARC 

 (A) a-iv b-ii c-i d-iii 
 (B) a-iv b-ii c-iii d-i 
 (C)  a-iv b-iii c-ii d-i 
 (D) a-ii b-iv c-i d-iii  

 

92. According to S. R. Ranganathan; 
“Wherever telescoping of array is done, 
the canon of Hierarchy is violated. This 
violation is deliberately done to satisfy 
__________.”  

 (A) Law of Parsimony 
 (B) Law of Local Variation 
 (C) Law of Symmetry 
 (D) Law of Interpretation 
 ..   ; “     

   ,     
        
______         ” 

 (A)  ()   
 (B)     
 (C)    
 (D)  ()    
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93. Principle of facet sequence are : 
 (1) Wall Picture Principle 
 (2) Whole-Organ Principle 
 (3) Cow-Calf Principle 
 (4) Act-Action-Actor-Tool Principle 
      : 
 (1)    
 (2) -  
 (3) -  
 (4) ---  
 (A) (1) and/ (3) 
 (B) (2) and/ (4) 

 (C) (3) and/ (4) 

 (D) All of these /     

 

94. Match the following relationship : 
List I List II 

a.  Law of 
Parsimony 

i. Classification 

b. Principle of 
Osmosis 

ii. F.W. Lancaster 

c. Paperless 
Society 

iii. Economy in 
library practices 

d. APUPA 
pattern 

iv. Reclassification 
/ Recataloguing 

      : 
 I  II 

a.   
() 
  

i.  () 

b.   
 

ii. ..  

c.   
 
( 
) 

iii.    
 (  
 ) 

d. APUPA 
  

iv. / 
(/ 
) 

 (A) a-ii b-i c-iv d-iii 
 (B) a-iv b-ii c-i d-iii 
 (C)  a-iii b-iv c-ii d-i 
 (D) a-i b-iii c-ii d-iv  

95. Match the following :   
List I List II 

a.  Paul Otlet i. List of subject 
headings 

b. Fermont Rider ii. Role operators 
c. George Boole iii. International 

Classification 
d. Minie Sears iv. Universal 

Decimal 
Classification 

     : 
 I  II 

a.    i.    
 

b.   ii.   
c.   iii.  

 
d.   iv.  

  
 (A) a-iii b-i c-ii d-iv 
 (B) a-iv b-iii c-ii d-i 
 (C)  a-iv b-iii c-i d-ii 
 (D) a-i b-iv c-iii d-ii  

 

96. Identify the principles of PRECIS : 
 (1) Context dependency  
 (2) Formalisation  
 (3) Modulation  
 (4) One-to-one relationship 
 (A)  (1) and (2) are correct. 
 (B)  (1) and (3) are correct. 
 (C)  (1) and (4) are correct. 
 (D)  (2) and (4) are correct. 
  (PRECIS)      : 
 (1)    
 (2)   
 (3)   
 (4)  --  
 (A) (1)  (2)    
 (B) (1)  (3)    
 (C) (1)  (4)    
 (D) (2)  (4)      
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97. Arrange the following according to their 
levels : 

 (1) Canons of Cataloguing  
 (2) Laws of Library Science 
 (3) General Normative Principles  
 (4) Principles of Cataloguing  
 (A) (2), (4), (1) and (3)  
 (B) (1), (3), (2) and (4) 
 (C) (4), (1), (2) and (3)  
 (D) (3), (2), (1) and (4)  
         : 
 (1)    
 (2)     
 (3)     
 (4)     
 (A) (2), (4), (1)  (3) 
 (B) (1), (3), (2)  (4) 
 (C) (4), (1), (2)  (3) 
 (D) (3), (2), (1)  (4)   

 

98. LibQual is a name of _______. 
 (A) Library Management Software  
 (B) Web-based survey  
 (C) Library Science Journal  
 (D) Library quality Standard 
 LibQual _____     
 (A)    
 (B)    
 (C)    
 (D)     

 

99. According to Herzberg’s motivator-
hygiene theory; which of the following 
are the Hygiene Factors ?  

 (i) Status (ii) Responsibility 
 (iii) Salary (iv) Work conditions 
 (v) Growth 
 (A) (ii), (iii), (iv) are correct. 
 (B) (iii), (iv), (v) are correct. 
 (C) (i), (iii), (iv) are correct. 
 (D) (i), (ii), (iii) are correct. 
   -    

        ? 
 (i)   (ii)   
 (iii)   (iv)     ( ) 
 (v)   
 (A) (ii), (iii), (iv)    
 (B) (iii), (iv), (v)    
 (C) (i), (iii), (iv)    
 (D) (i), (ii), (iii)      

100. What does BARC stand for in 
performance appraisal ? 

 (A) Behaviourally Anchored Rating Scales 
 (B) Behaviourally Anchored Rating System 
 (C) Behaviourally Arranged Rating Scales 
 (D) None of these 
     (BARC)  

   ? 
 (A)      
 (B)     
 (C)     
  (D)        
 

101. The conference in which the IFLA Core 
Programme on Preservation and 
Conservation (IFLA-PAC) was launched 
during 1986 was co-organized by – 

 (i) IFLA 
 (ii) ALA 
 (iii) UNESCO 
 (iv) Conf. of Directors of National 

Libraries 
 (v) CILIP 
 (A) (i), (ii), (iii) are correct. 
 (B) (ii) & (iii) are correct. 
 (C) (i) & (iv) are correct. 
 (D) (i), (iii), (iv) are correct. 
    1986   IFLA  

     (IFLA-
PAC)    ,   -
    ? 

 (i) IFLA 
 (ii) ALA 
 (iii) UNESCO 
 (iv) .      
 (v) CILIP  
 (A) (i), (ii), (iii)    
 (B) (ii)  (iii)    
 (C) (i)  (iv)    
 (D) (i), (iii), (iv)      
 

102. In PDCA cycle ‘A’ stands for  
 (A) Assessment (B) Awareness 
 (C) Arrangement  (D) Act 
  (PDCA)   ‘’ (A)    
 (A)  () 
 (B)  () 
 (C)  () 
 (D)  ()    
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103. Who introduced the concept of 
‘Management theory of jungle’ ? 

 (A) Harold Koontz 

 (B) Philip Kotler 

 (C) Abraham Maslow 

 (D) Paul Krugman 

 ‘   ’   
   ? 

 (A)   (B)   
 (C)   (D)    

 

104. Match the following : 
List I List II 

a.  Right man at 
right library 

i. Annual 
financial 
statement 

b. Budget ii. Deployment 

c. Journal iii. TQM 

d. Identifying user’s 
views and 
expectations 

iv. ISSN 

     : 
 I  II 

a.     
 (  
  ) 

i.  
 
 

b.  ii.  
() 

c.   iii.  
(TQM) 

d.    
   
  

iv.  
(ISSN) 

 (A) a-ii b-i c-iii d-iv 

 (B) a-ii b-i c-iv d-iii 

 (C) a-ii b-iv c-iii d-i 

 (D) a-ii b-iii c-i d-iv  

105. Match the following : 
List I List II 

a.  Taylor i. Theory of 
Motivation 

b. Maslow ii. X and Y Theory 
c. McGregor iii. Scientific 

Management 
d. Argyris iv. Immaturity/ 

Maturity Theory 
     : 

 I  II 
a.   i.    
b.  ii.     
c.  iii.   
d.  iv. / 

 
 (A) a-i b-ii c-iv d-iii 
 (B) a-ii b-i c-iv d-iii 
 (C) a-iii b-i c-ii d-iv 
 (D) a-iii b-i c-iv d-ii  
 

106. Historically there were four ‘Ps’ of 
marketing elements, namely Product/ 
Service, Price, Promotion and Place. The 
additional three ‘Ps’ added afterwards are 

 (A) People, Process and Physical evidence 
 (B) Payment, Physical evidence, Privacy  
 (C) Provider, Process, People  
 (D) Physical evidence, Patent, Potential  
        ‘’ , 

  / , ,   
        ‘P’  : 

 (A) ,     
 (B) ,  ,  
 (C) , ,  
 (D)  , ,   

 

107. Job characteristics model in theory of 
motivation was developed by –  

 (A) Hackman and Oldham 
 (B) McClelland 
 (C) B.F. Skinner 
 (D) Locke 
        

      ? 
 (A)    
 (B)  
 (C) ..  
 (D)     
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108. Which of the following are the 
performance appraisal methods ?  

 (i) Weighted checklist method 
 (ii) Paired comparison analysis 
 (iii) Structured insights method  
 (iv) Stimulation method  
 (v) Critical incident method 
 (A) (ii) ,(iii), (iv) are correct.  
 (B) (i), (ii), (v) are correct.  
 (C) (i), (ii), (iii) are correct. 
 (D) (iii), (iv), (v) are correct. 
        

  ? 
 (i)     
 (ii)     
 (iii)    
 (iv)   
 (v)    
 (A) (ii), (iii), (iv)    
 (B) (i), (ii), (v)    
 (C) (i), (ii), (iii)    
 (D) (iii), (iv), (v)      

 

109. The IFLA Strategic Programme on 
Preservation and Conservation (PAC) 
was officially created during the IFLA 
Annual Conference in _______. 

 (A) Nairobi,1984 
 (B) Paris,1989 
 (C) Tokyo,1986 
 (D) New Delhi, 1992 
 IFLA      

 (PAC)    IFLA 
    _______   
   

 (A) , 1984 
 (B) , 1989 
 (C) , 1986 
 (D)  , 1992    

110. Which laws of library science proposed 

by S.R. Ranganathan are helpful in 

formulating the principles of selection of 

documents ? 

 (i) Books are for use 

 (ii) Every reader has his/her book 

 (iii) Every book has its reader 

 (iv) Save the time of reader 

 (v) Library is a growing organism  

 (A) (iii), (iv), (v) are correct. 

 (B) (i), (ii), (iii) are correct. 

 (C) (ii), (iii) & (iv) are correct. 

 (D) (i), (iii) & (iv) are correct. 

 ..     

         

      ? 

 (i)        

 (ii)          

 (iii)        

 (iv)      

 (v)       

 (A) (iii), (iv), (v)    

 (B) (i), (ii), (iii)    

 (C) (ii), (iii)  (iv)    

 (D) (i), (iii)  (iv)     
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111. Match the following : 
List I List II 

a.  Textual 
representation 

i. Pascal 

b. Computer language ii. Gopher 
c. Networking 

protocols 
iii. Boolean 

operators 
d. Searching 

technique 
iv. ASCII 

     : 
 I  II 

a.    
( ) 

i.  

b.    
(  ) 

ii.  

c.    iii.  
 

d.     
( ) 

iv.  
(ASCII) 

 (A) a-iii b-ii c-i d-iv 
 (B) a-iv b-i c-iii d-ii 
 (C) a-i b-iii c-iv d-ii 
 (D) a-iv b-i c-ii d-iii  
 

112. Arrange the following computer 
programming languages according to the 
year of their origin : 

       
       : 

 (i) UNICODE  (ii) XML  
 (iii) HTML  (iv) SGML  
 (A) (iv), (iii), (i), (ii) 
 (B) (iii), (iv), (ii), (i) 
 (C) (i), (iii), (iv), (ii)  
 (D) (i), (ii), (iii), (iv)   
 

113. Arrange the following softwares 
according to their development : 

       
   : 

 (i) CDS/ ISIS  (ii) D-space -  
 (iii) Zotero  (iv) Koha -  
 (A) (iv), (ii), (iii), (i)  
 (B) (iv), (iii), (ii), (i) 
 (C) (i), (iv), (ii), (iii) 
 (D) (ii), (iii), (iv), (i)   

114. ISO 26324 : 2012 is a standard for :  
 (A)  DOI  (B)  RFID 
 (C)  DBMS (D)  Dublin core 
 ISO 26324 : 2012     : 
 (A)  (DOI) 
 (B)  (RFID) 
 (C)  (DBMS) 
 (D)      

 

115. Biblioshiny, VOSviewer, PoP and 
BibExcel are some of the ______. 

 (A)  Bibliographical Standards 
 (B)  Bibliometric tools and Software  
 (C)  Reference Management tools and 

software 
 (D)  Digital Library software 
 Biblioshiny, VOSviewer, PoP  

BibExcel  ____   
 (A)    
 (B)      
 (C)       
 (D)      

 

116. SCImago Graphica is a _______ . 
 (A) Data analytics tool 
 (B) Data analysis and communication tool  
 (C) Data harvesting tool 
 (D) Data analysis and visualisation tool  
 SCImago  ________   
 (A)    
 (B)      
 (C)    
 (D)      

 

117. Which of the following is not a Data 
analytic tool ? 

 (A) R Programming (B) Tableau Public 
 (C) Python  (D) Comcast 
        ( 

 )   ? 
 (A) R  (B)   
 (C)  (D)   
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118. Assertion (A) : The copyright Act 
safeguards the interest of the author. 

 Reason (R) : This Act is essential to 
maximise the circulation of documents. 

 (A) Both (A) and (R) are true and (R) is 
the correct explanation. 

 (B) Both (A) and (R) are true but (R) is 
not the correct explanation. 

 (C) (A) is true, but (R) is false. 
 (D) (A) is false, but (R) is true. 
  (A) :    

       
  (R) :      

        
 (A) (A)  (R)     (R)  

   
 (B) (A)  (R)     (R) 

     
 (C) (A)  ,  (R)    
 (D) (A)  ,  (R)     

 

119. Assertion (A) : Making information 
available through a digital library is 
more effective than just putting it on the 
web. 

 Reason (R) : The information available 
in digital form cannot be archived. 

 (A) Both (A) and (R) are true. 
 (B) (A) is false, but (R) is true.  
 (C) Both (A) and (R) are false. 
 (D) (A) is true, but (R) is false.  
  (A) :       

       
      

  (R) :      
        

 (A) (A)  (R)     
 (B) (A)  ,  (R)    
 (C) (A)  (R)     
 (D) (A)  ,  (R)     

120. Assertion (A) : In the present 
technological era, Michael Gorman 
expanded the third law of Ranganathan’s 
Five laws of LS to “Use technology 
intelligently to enhance service” 

 Reason (R) : Technology should be 
used to solve problems, improve 
services, and achieve cost-effectiveness 
rather than adopted for its own sake. 

 (A) Both (A) and (R) are true. 
 (B) (A) is false, but (R) is true.  
 (C) Both (A) and (R) are false. 
 (D) (A) is true, but (R) is false.  
  (A) :    , 

   LS      
       “  
      ”    

  (R) :     
  ,       
       , 
         

 (A) (A)  (R)     
 (B) (A)  ,  (R)    
 (C) (A)  (R)     
 (D) (A)  ,  (R)     
 

121. Which of the following is not a 
Reference Management Software ? 

 (A) Mendeley (B) OPALS 
 (C) EndNote (D) Zotero 
           ? 
 (A)  (B)  
 (C)  (D)   

 

122. Which of the following are the Content 
Management System (CMS) platforms ? 

 (1) PrestaShop (2) Umbraco 
 (3) Magnolia (4) GLPI 
         

(  )   ? 
 (1)   (2)   
 (3)  (4)  
 (A) (1), (2) and/ (3) 
 (B) (2), (3) and/ (4) 
 (C) (1), (3) and/ (4) 
 (D) (1), (2) and/ (4)   
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123. Which of the following are the Digital 
library initiatives from the United States 
of America ? 

 (a) Dieper: Digitized European 
Periodicals  

 (b) Digital Curation Centre  
 (c) University of California at Berkeley 

- Environmental Planning Library 
and Geographic Information 
Systems.  

 (d) University of Illinois at Urbana-
Champaign - Federating 
Repositories of Scientific Literature.  

 (A) (a) and (b) (B) (a) and (d) 
 (C) (c) and (d) (D) (c) and (b) 
         

     ? 
 (a) :    
 (b)    
 (c)     - 

     
   

 (d) -    
-       

 (A) (a)  (b) (B) (a)  (d) 
 (C) (c)  (d) (D) (c)  (b)  

 

124. Digitalization hardware are : 
 (1) Scanners  
 (2) Digital Storage devices 
 (3) Routers 
 (4) Checksum 
 (A) (1) and (2) (B) (3) and (4) 
 (C) (1) and (3) (D) (2) and (4) 
   : 
 (1)  
 (2)   (  

) 
 (3)  
 (4)   
 (A) (1)  (2) (B) (3)  (4) 
 (C) (1)  (3) (D) (2)  (4)  

125. ROAR (Registry of Open Access 
Repositories) is hosted by 

 (A) Charles University 
 (B) University of Southampton, UK 
 (C) University of Nottingham and Lund 

University 
 (D) California Digital Library  
 ROAR (    

)       ? 
 (A)   
 (B)  ,  
 (C)     

 
 (D)     

 

126. Match the following : 
List I List II 

a.  CiteSeer i. Research papers in 
Economics 

b. ArXyiv ii. Computer Science 
c. HTP 

Prints 
iii. Physics, 

mathematics, non-
linear science and 
computer science 

d. RePEc iv. History and theory 
of psychology 

     : 
 I  II 

a.  CiteSeer i.     
b. ArXyiv ii.   
c.   

(HTP 
Prints) 

iii. , , 
   
  

d. RePEC iv.    
  

 (A) a-iii b-ii c-i d-iv 
 (B) a-ii b-iii c-iv d-i 
 (C) a-iii b-i c-ii d-iv 
 (D) a-ii b-iv c-iii d-i  
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127. Match the following : 
List I List II 

a.  ISO 
2108:2017 

i. International 
Standard Book 
Number (ISBN) 

b. ISO 
3297:2022 

ii. International 
Standard Serial 
Number (ISSN) 

c. ISO 
2709:1996 

iii. Format for 
Information 
Exchange 

d. ISO 
15836:2009 

iv. Dublin Core 
Metadata Element 
Set Standard 

    : 
 I  II 

a.   
2108:2017 

i.   
  
(ISBN) 

b.  
3297:2022 

ii.    
 (ISSN) 

c.  
2709:1996 

iii.    
  

d.  
15836:2009 

iv.    
   

 (A) a-iv b-ii c-iii d-i 
 (B) a-i b-ii c-iii d-iv 
 (C) a-iii b-i c-ii d-iv 
 (D) a-ii b-iv c-i d-iii  

 

128. Who is the founder of Project Gutenberg ? 
 (A) Michael Hart 
 (B) Raj Reddy 
 (C) John Mccarthy 
 (D) Chen Haiying 

       ? 
 (A)   (B)   
 (C)   (D)    

129. Match the following : 
List I List II 

a.  Word Press i. Reference 
Management 
Software 

b. MOOC ii. Integrated 
Library 
Management 
Software 

c. Mendeley iii. Open Online 
Courses 

d. e-Granthalaya iv. Content 
Management 
Software 

    : 
 I  II 

a.    i.    
b.  

(MOOC) 
ii.   

  
c.   iii.   

 
d. -  iv.   

 ( 
 ) 

 (A) a-i b-ii c-iii d-iv 
 (B) a-ii b-iii c-i d-iv 
 (C) a-iv b-i c-ii d-iii 
 (D) a-iv b-iii c-i d-ii  
 

130. Which from the following are true about 
SOUL 2.0 ?  

 (i) RFID compatible 
 (ii) Z39.50 compatible 
 (iii) Fully Web Based  
 (iv) Client-Server Architecture  
      SOUL 2.0    

  ? 
 (i)  (RFID)  
 (ii) Z39.50  
 (iii)      
 (iv) -  
 (A) (i), (ii) and/ (iii) 
 (B) (i), (iii) and/ (iv) 
 (C) (i), (ii) and/ (iv) 
 (D) (i), (ii), (iii) and/ (iv)  
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131. Which of the following is not an 
example of Web Scale Discovery 
Service ? 

 (A)  Primo- Ex Libris 

 (B)  Summon serial solutions 

 (C)  EBSCO Discovery Services (EDS) 

 (D) DBpedia 

         
     ? 

 (A) -   

 (B)    

 (C) EBSCO   (EDS) 

 (D)  (DBpedia)  

 

132. The objectives of metadata are : 

 (1) To eliminate the duplicate record  

 (2) Authentication of records 

 (3) Unique identification  

 (4) Assessment of quality 

 (A)  (2) and (4) are correct. 

 (B)  (1) and (3) are correct. 

 (C)  (2) and (3) are correct. 

 (D)  (1), (2) and (3) are correct. 

     : 

 (1)      

 (2)    

 (3)   

 (4)    

 (A) (2)  (4)    

 (B) (1)  (3)    

 (C) (2)  (3)    

 (D) (1), (2)  (3)     

133. There are two sets given below. Set I 
specifies the types of research, while     
Set II indicates their characteristics. 
Match the two and give your answer by 
selecting the appropriate code. 

Set I Set II 
a.  Fundamental 

research 
i. Finding out the 

extent of the 
perceived impact 
of an intervention 

b. Applied 
research 

ii. Developing an 
effective 
explanation 
through theory 
building 

c. Action 
research 

iii. Improving an 
existing situation 
through the use 
of interventions 

d. Evaluative 
research 

iv. Exploring the 
possibility of a 
theory for use in 
various situations 

         I    
   ,   II   
          
       

 I  II 
a.   

 
i.     

     
  

b.  
 
( 
)  

ii.    
    
   
  

c.  
 

iii.     
    
    

d.  
  

iv.    
    
   
  

 (A) a-ii b-iv c-iii d-i 

 (B) a-i b-iv c-iii d-ii 

 (C) a-i b-ii c-iii d-iv 

 (D) a-ii b-iii c-iv d-i  
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134. Below are two sets - research methods 
(Set I) and data collection tools (Set II). 
Match the two sets and indicate your 
answer by selecting the correct code : 

Set I Set II 

a.  Experimental 
method 

i. Using primary 
and secondary 
sources 

b. Ex post-facto 
method  

ii. Questionnaire 

c. Descriptive 
survey method  

iii. Standardized 
tests 

d. Historical 
method 

iv. Typical 
characteristic 
tests 

     -   ( I)  
   ( II)       
         
   : 

 I  II 

a.   
 

i.   
   
   

b.  (Ex 
post-facto) 
 

ii.  

c.  
  

iii.  
 

d.  
 

iv.   
 

 (A) a-ii b-i c-iii d-iv 

 (B) a-iii b-iv c-ii d-i 

 (C) a-ii b-iii c-i d-iv 

 (D) a-ii b-iv c-iii d-i  

135. Types of research are given in List I and 
their descriptions in List II. Match List I 
and List II and choose the correct answer 
from the following : 

List I List II 
a.  True 

experimental 
research 

i. Exploring the 
possibility of use 
of theory in 
varied situations 

b. Basic 
research  

ii. Judging the 
worth of a 
particular practice 

c. Applied 
research  

iii. Concerned with 
theory building 
and explaining 
natural 
phenomena 

d. Evaluation 
research 

iv. Cause-effect 
relationship 
between 
manipulated 
conditions and 
measured 
outcome 

  I       II   
      I   II   
        : 

 I  II 
a.    

 
i.    

    
   

b.  
 

ii.    
    
  

c.  
 

iii.    
  
   
 

d.  
 

iv.     
    
 - 
 

 (A) a-i b-ii c-iii d-iv 
 (B) a-iv b-iii c-i d-ii 
 (C) a-ii b-i c-iii d-iv 
 (D) a-iii b-iv c-ii d-i  
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136. Match the types of research in List I with 
the features in List II : 

List I List II 
a.  Exploratory i. Quantitative and 

qualitative data 
are gathered and 
integrated 

b. Cross-sectional  ii. Qualitative data 
is gathered first 
and the same 
predominate 
later 

c. Explanatory iii. Retrospective 
analysis of 
history of a unit 

d. Triangulation iv. Quantitative data 
is gathered first 
and the same 
predominates 
later 

e. Longitudinal v. Macro level 
analysis 
attempted for the 
data 

  I         II 
       

 I  II 
a.    i.   

   
   
   

b. -
  

ii.    
    
     
   

c.   iii.     
   

d.  iv.    
    
     
   

e.   v.      
   
    

 (A) a-v b-iii c-i d-ii e-iv 
 (B) a-ii b-v c-iv d-i e-iii 
 (C) a-iv b-iii c-i d-ii e-v 
 (D) a-i b-ii c-iii d-iv e-v  

137. Which of the steps are required to be 
followed to design a questionnaire ? 

 (1)  Writing primary and secondary 
aims of the study. 

 (2)  Prepare article on the topic. 
 (3)  Prepare a draft of questionnaire. 
 (4)  Revision of the draft questionnaire. 
 (A)  (1), (2) and (3) 
 (B)  (1), (3) and (4) 
 (C)  (2), (3) and (4) 
 (D)  (1), (2), (3) and (4) 
         

    ? 
 (1)         

  
 (2)       
 (3)        
 (4)       
 (A) (1), (2)  (3) 
 (B) (1), (3)  (4) 
 (C) (2), (3)  (4) 
 (D) (1), (2), (3)  (4)   
 

138. What is the correct sequence of actions 
in conducting an intervention-based 
action research ? 

 (A) Act, observe, plan and reflect 
 (B) Observe, plan, reflect and act 
 (C) Reflect, observe, plan and act 
 (D) Plan, act, observe and reflect 
 -     

      ? 
 (A)  ,  ,  

    
 (B)  ,  ,  

    
 (C)  ,  ,  

    
 (D)  ,  ,  

     
 

139. In a survey of students, each student was 
asked to state his views on the 
educational system in not more than 50 
words. This is an example of :  

 (A) Scale item 
 (B) Open-ended question  
 (C) Dichotomous question 
 (D) Closed-ended question 
     ,    

 50       
          
________      

 (A)   (B) -  
 (C)   (D) -   
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140. The full form of FID is 
 (A) International Federation for 

Information and Documentation 
 (B) Federation for Information and 

Documentation 
 (C) Federation for International 

Information and Documentation 
 (D) Federation for International 

Documentation  
 FID     
 (A)      

 
 (B)      
 (C)      

 
 (D)      
 

141. Match the following : 
List I List II 

a.  Journal 
Citation 
report 

i. Counting Online 
Usage of Networked 
Electronic Resources 

b. Link 
resolver 

ii. Creation and study of 
new metrics based on 
the Social Web for 
analyzing, and 
informing scholarship 

c. Altmetrics iii. Impact Factor 
d. Counter iv. Seamless access to 

electronic full-text 
content across all 
databases 

    : 
 I  II 

a.    
(Citation) 
 

i.   
   
   
  

b.   ii.    
     
   
    
    

c.  
(Altmetrics) 

iii.   

d.  iv.    
 - 
     

 (A) a-i b-iii c-iv d-ii 
 (B) a-iii b-iv c-ii d-i 
 (C) a-iii b-iv c-i d-ii 
 (D) a-ii b-iii c-iv d-i  

142. Match the following research methods : 

List I List II 

a.  Descriptive 
research 

i. Cause and 
effect 
relationship 
between two or 
more group of 
variables 

b. Conceptual 
research 

ii. Survey and 
factfinding 
enquiries 

c. Experimental 
research 

iii. Formulation of 
theory 

d. Formalized 
research 

iv. Interpretation 
of abstract 
ideas 

e.  Fundamental 
research 

v. Substantial 
structure and 
hypothesis to 
be tested 

       : 
 I  II 

a.   
 

i.      
     
  

b.  
  

ii.    
 

c.  
  

iii.    

d.  
  

iv.     

e.  
  

v.     
   
 

 (A) a-ii b-iv c-iii d-i e-v 

 (B) a-iv b-ii c-iii d-i e-v 

 (C) a-ii b-iv c-i d-v e-iii 

 (D) a-v b-iv c-i d-ii e-iii  
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143. Which of the following are not styles of 
citation ? 

 (i)  Anglo American Cataloguing Rules 
 (ii)  MLA Handbook for Writers of 

Research Papers 
 (iii)  Chicago Manual of Style 
 (iv)  Little Science Big Science 
 (A) (i) and (ii) are correct. 
 (B) (iii) and (iv) are correct. 
 (C) (i) and (iv) are correct. 
 (D) (ii) and (iii) are correct. 
          ? 
 (i)     
 (ii)        
 (iii)     
 (iv)     
 (A) (i)  (ii)    
 (B) (iii)  (iv)    
 (C) (i)  (iv)    
 (D) (ii)  (iii)      

 

144. Match the following : 
List I List II 

a.  Ibid  i. cited in the work 
b. Op.cit ii. same as above 

c. Loc.cit iii. in the same page 

d. Vide iv. see  
     : 

 I  II 
a.  Ibid  i. cited in the work 

(  ) 
b. Op.cit ii. same as above ( 

 ) 
c. Loc.cit iii. in the same page ( 

 ) 
d. Vide iv. see () 

 (A) a-i b-ii c-iv d-iii 
 (B) a-iii b-ii c-iv d-i 
 (C) a-iii b-ii c-i d-iv 
 (D) a-ii b-i c-iv d-iii  

145. Match the following : 
List I List II 

a.  P. Wassermann i. Subject analysis 
tools 

b. P. Atherton ii. Author of ‘New 
Librarianship’ 

c. J. H. Shera iii. Director 
General for 
science, 
technology and 
industry at 
British Library 

d. Maurice B. 
Line 

iv. Initiated use of 
information 
technology in 
library 

     : 
 I  II 

a.  .  i.    
b.  . ii. ‘ ’  

 
c. . .  iii.    

,   
    

d.  . 
 

iv.    
   
  

 (A) a-i b-iii c-iv d-ii 
 (B) a-i b-iii c-ii d-iv 
 (C) a-ii b-i c-iv d-iii 
 (D) a-ii b-iv c-iii d-i  
 

146. Match the following : 
List I List II 

a.  Nadir to 
Ascendant  

i. Verification 
phase 

b. Ascendant to 
Zenith  

ii. Deductive 
phase 

c. Zenith to 
Descendant  

iii. Hypothesing 
phase 

d. Descendant to 
Nadir  

iv. Empirical 
phase 

     : 
 I  II 

a.     i.   
b.    ii.  

 
c.    iii.   
d.    iv.   

 (A) a-iii b-ii c-i d-iv 
 (B) a-iv b-iii c-ii d-i 
 (C) a-ii b-i c-iv d-iii 
 (D) a-i b-iv c-iii d-ii  
 



 

 31 14 (Library Science) 

147. Which sources would you consult to 
know the ‘Impact Factor’ of journal ?  

  ()  ‘  ( 
)’         
  ? 

 (i) Web of Science (ii) DOAJ 

 (iii) SCOPUS (iv) EBSCO 

 (A) (i) and/ (iv) 

  (B) (ii) and/ (iii) 

 (C) (i) and/ (iii) 

 (D) (iii) and/ (iv)    

148. Match the following : 
List I List II 

a.  Zipf’s Law i. Law of Scattering 

b. Eugine 
Garfield 

ii. Measurement of 
word frequency 

c. Bradford’s 
Law 

iii. Measurement of 
Author Productivity 

d. Lotka’s Law iv. Impact Factor 

     : 

 I  II 
a.    

 
i.  ()  

 

b.  
 

ii.     

c.   
 

iii.    
 

d.   
 

iv.   

 (A) a-i b-iii c-iv d-ii 

 (B) a-ii b-iv c-i d-iii 

 (C) a-i b-iv c-ii d-iii 

 (D) a-iv b-iii c-i d-ii  

 

149. Impact factor is calculated on the basis of :  

 (i) Length of the articles 

 (ii) Number of citations 

 (iii) Number of citable articles published 

 (iv) Number of awards received by the 
articles  

 (A) (ii) and (iii) (B) Only (ii)  

 (C) (iii) and (iv) (D) Only (iv)  

     _______     
   

 (i)    
 (ii)    
 (iii)       
 (iv)       
 (A) (ii)  (iii) (B)  (ii) 
 (C) (iii)  (iv) (D)  (iv)  

 

150. The full form of IFLA is : 

 (A) International Federation of Library 
Associations 

 (B) International Federation of Library 
Institutions and Associations 

 (C) International Federation of Library 
Associations and Institutions 

 (D) International Federation of Library 
Associated Intuitions 

 IFLA     : 
 (A)     

 
 (B)     

   
 (C)     

   
 (D)      

    

 




